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1 Bz =7x 101111111 X 111111, 111 = 7 x 1234 567, 898 765 432
= § 641 975,291 358 024 7,

2 B b= 2a+b, BTl ar2a = 2+ 2 = da, daddu = a+3e = la,
1lapda = 220+ ba = 26a, 26aA5a = 52 +5a = 5Tu, STadbe = 114a+6a =
120a, 120aA7a = 2400+ Ta = 247, 247aA8a = 494a+8u = 5024, 502aA% =
10042+ 9 = 1013a, 10130 = 3039, a =3,

3, B=[3.6 %3144 (3144125 X 6.4] <50



=[3.6x31.4431.4x6.4+12.5x6,4] =50

—[31.4 X (3.646.4)+12.5x8x0.8]+50

=[31.4 X 104+ 100X 0, 8] =50

= (314480] =50

= 394 X 2+ 100

= 788 + 100

— 7.88,
4. BHAIFEATEMEAES =9.62X5-9.65X4=48.1-38.6=19.5,
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$ 15 AN, A 7115 =56 MRRAETEY: . RIBERHMZELF 30 SARS
HIFA. 25 MERMFEEELE 56 X 30— 1 +1 =1625(A),
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GO 1 Oy, BB MR 2 4. 40 HR 3. EEAEA. 6 T 3 BT H
EHFEEHEE 3 B, 76 6 8P 18, 21 BERE 3 BER. R TW (19+ 23+ 25 +24) +
3 =33 4% 2, FEIX VO EeP R 21 3 BG4 2 ROMR 23, AT B O MR T 124
23 RiMAR—5.

7. WIEHREHER o, KABRTEN (a—2) EX, TN («—5) EX, K
Pl (a—2) (a—5) 460 = a’=7a = 70,

- = 100K, R
Sy = (10—2)(10—5) = 40y \
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10. ZEAABCHE =M (1424 3+4) X2 = 20;
HWAADCHE =B (1+2+3)x2=12;
EABOCHE 7TH=ME;

HENAOD WE T 1=,

MERFTENLE =/AT: 20+-12+7+7 = 46(1),
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dr—+ (4r —2.5x) - 3.50 = 27, 9x = 27, x = 3UNED)
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